B4 KREHINHEZT (T —00)BH (ERS0F48~FMH314E3A)

(ERESEE)
REEEX NIE | 48 54 6H | 7H | 8A | 9A |10A[11HA[12A| 1B | 2B | 3A =k & =
ER-BRTHAEEE [ @ 1 1 1 3
) 425 2,067] 1297 813 4,177
EERGHFENE(RE | B 1 ]
E5) 43 7,087 7,087
BRINFRMAE (BR-% | @R 2 2 2 2 2 2 2 2 16l mm 1
) I 1,667] 1,558] 1,669] 1,397] 1.428] 1458 1430 1,229 11,836 s
®BPEREERRREM | B 1 1{RGRE @D, .
ok 420 5,359 5,359 | 4518
OERSENE BT 2 2E17. 8
= I 2,709 2,709 Ml
BE 1 1| ZRNAF RE
ERREE T 6,836] 6,836|F:E
(2 EEtEHEER)
REER i | 48 58 68 | 7B |1 88 | 9B |10B|11B|12B| 1B | 2B | 3B | &%t A
. «ap Bk 1 1
AVIINIOHFHERE e 18.640 18,640
g EEN 1 i i JER.BAA. F
RN/ 1% | 20,051 465 3,000 23,516|1 bk
(FRF5ER)
RIEER i | 48 5H 68 | 7B | 88 | 9B |10A 118|128 1B | 2B | 388 | &%t i %=
szt EER 1 1
BEEEEMRMAREBNE 75 | 25,288 25.288
. E1E 1 1[#HFE, BA-EA
FAI I AE #H% | 47,069 47,069 @E1E
TRERMBENE [ ! !
T " = B 4,128 4,128
. EER 1 1
MRERREE e 11.622 11.622
EEAERORENE | ! !
% = T 15,785 15,785
. [E12% 0 1 1 1 1 1 0 1 0 1 1 1 9| e y
BRAFRME I 0 2.870] 3,716 1,236] 2519 1,052 o] 1,079 o] 2402 1,108] 2,149 18,131 ElE. %8, T




(BEEEESD)

REER I | 48 54 68 | 7B | 8A | 9A |10B|118[12B[ 1B [ 2B | 8B | &%t B\ &
‘g2 6 g A 48 [E12% 1 1 1 1 1 5|lhaE- MR- RREE
RERRAGH 45 35,582| 35,582 1,079 32,303 1,108 105,654
(BEHREDR)

REEHR i | 48 5H 68 | 7B |1 8A | 9A |10B 118|128 1B | 2B | 3B | &%t A

g \ EIE] 1 |- RS DH

ERBBEMTE TR | 7200 7200
(BN FEEC AR

EHEERE MIE | 48 54 68 | 7B | 8A | 9A |10B|118 (128 1B [ 2B | 8B | &%t m &
(B%) TWRE Bk REFHY
(EBE) REFLRRBH [ gy 33008

AsFEET IS0 T)




